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28. A teacher wants to help her students develop
metacognitive skills, Which of the following
strategies would be most effective ?
(1) Providing frequent grades and feedback

to motivate students
(2) Encouraging students to reflect on their
own learming and evaluate their progress

(4) - Providing students with detailed and
prescriptive instructions for all learning
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Teachers should ask students to identify their

Reason (R) : s :

Thinking of examples leads to strengthening

of the concept while non-examples tend

confuse the students. '

(1) (A} is true, but (R) is false.

‘(%) Baoth (A) and (R) are true, but (R) is not
the correct explanation of (A).

(3) Both (A)and (R) are false.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).
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41.

‘The area of ' rectangle whose sides are
176 cm and 56 em is oqual to the area of &
circle, What is the circumference (in em) of the

ﬂh’ﬂh?mhn- ;!E]

1) 396

(2} asz

(3) 440

(4) 308

The cost of painting the surface of a solid

. mﬁﬂdﬂfﬂmmmuﬂuu:mﬂ

¥ 20 per 100 em® is ¥ 1,02 What is the value

“ofx?

(1 20

() 15

(3) 24

4) 12 Y
PQRS is a quadrilateral in which PQ = PS and
RQ = BS. Which of the following statements is
true about this quadrilateral ? ,
(1) Its dingonals are equal.
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vertex
H} Its diagonals bisect each other.
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Then, the value of {2 £ BAD — £ ABC) is :
(1y 230°
@) 240°
@) 210°
(4) 280°
What is the mean of the mods, median and
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1‘?.3.11:15p5':1_~l|1'ﬂ-11-15.ﬂ.15.?
(1) 183
(2) 125
(3) 136
4) 12
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If p={12:34 » 10') — (567 x 10, then p is
expressed in standard form as :

() 11773 = 101

(2 11773 x 1010

(® 1773 x 101

() 1778 x 101°
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16 ok

¥ SPACE FOR ROUGH WORK | T W7dl & forg wmg

(16)
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"ﬁl'-’ﬁ!-’ﬁ'ﬂtr-ﬁuﬁ?t
Ll +-Il.'llt'l

(1 u-i‘

2 003

@ o033 —

4 o .

L I‘E'p-{lﬂ-ﬁll-: iﬂlﬂ}-ﬁ'ﬂilﬂt.ﬂpﬂ'
a3 s g o b

(1 11773 x 101
{2) 11773 x 10"
@ 17781011 =
(4) 1778 % 10'°

ﬁmm#[-_] = T fawn g A

,ﬂlﬁ'ﬂr(—;] = g R

T
ﬂ]ﬁ

18

w F )
T
16

40 TR 313632 = p? x ¥ x AR, Tl p, g T 1
s e §, A prq-WFARTMR?

1y 8
2 7
@ 8-
4 6




. Thl'i'ﬂ:lmlnflrhhdlmln-l.fllndu-ﬂ

length 1-2 metres is 4620 em® What is the

curved surface area (in em?) of the cylinder 7

(Toake n = %3

(1) 2640
(2) 2200

. (3 2860 - —
" (4) 1980

If F, V and E are respectively the number of | 52

faces, vertices and edges of a triangular prism,

" then which of the following statements is

true ? : ' i
(1) 4F+2V-3E=6
(2) 2F+3V-2E=10
(3) ZF+4V-3E=B.
(4) SF+2IV-2E=11 e

PIE h (18) =
50. Marks obtained by Sunita in her pre-board |50, mmmm*mﬁﬂﬂﬂl-
Subjeet Marks |
 Engi = | s 12 |
Hindi 8 fed -
Mathematics D6 .. mifra 86
Science 80
Social Science 68 mh 2
If a pie chart is constructed for the above data, i =
then what will be the angle of the sector| W12 394W gl w1 wh Wi wid W wrem 4,
.; ﬂmm?mmwmm ot hm g ofe § wa s B R oS
{Mu o Preuae % #o fsn dim 2
i () 7546°
i o @ 72°
4) 648° Bl
4) B48°

- Tt g dem @ wad 12 fiee b o

VAT S 4620 en® § | oW W W g

hm{&ﬁ}mt![:-%aﬂh}

(1) 2640

(2) 2200

(3) 2860 ~ - .
(4) 1980 N
ﬁr.vdkzmﬁmﬂwﬁwt
s, W s ferd @ e g @
e d s s e o

(1) "4F+2V-3E=6
(2) 2F+3V-2E=10
B EZF+4V-JE=§ —
4 IF+EV-2E=11

SPACE FOR ROUGH WORK | T wrd & T sy — :
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that RS = PS = Q8. If 2 QPR = 15°, then the
value of (2 £ PQR- £ PRQ)is: *

(1) 50° -

(2) 60"

(3) 45°

@ 75

When a shopkeeper sells item A for T 384, |

then, there is a loss of 20% and when he sells
item B for ¥ 400, then there is a profit of 26%,
What is the profitloss percent, if he sells both
items for a total of T 852 7 iy . _
(1) Profit, 5-5% e
(2) Loass, 5% ,;
(3) Loss, 7% il
(4) Profit, 7-5% .
A sum of ¥ 12,000 amounts to T 15972 at a
muﬁrm“twmmhiim
when the interest is compounded half-yearly.

What will be the amount of the same sum in |

same time and with the same rate, if interest

¥ PIVE
<. g8 Pisapoint on line AB and PQ is a ray sueh |59, ‘tan AR W v fi p it & 7w po-
% that £ QPA = 7x and £ QPB = Gx. Then, the ﬂmlh;ﬁa-h;hg;?m
rllud'fﬂl-lﬂ"]h: “rmﬁlﬂ“mt:
) 118 m 1e
@ e @, 110°
(@ 140° (@ 140° =
- @ w02 ’ 4) 102°
54, Sisa point on side PQ of a triangle PQR such fiedt P PQR #1 1 PQ L S uE fig W

vent f@m % @ Rs-ps-qs % | W
£ QPR = 15"}, M (2 ZPQR - ZPRQ) T TH

t:

(1) &0°

(2) a0°

(3) 45" —~

s RNr i ITME, A
| W U EEFER A A 384 .
ﬂmﬂﬁ%tmmﬂﬁﬂﬁ
v 400 W Wwen B, & 3@ 25% % A W ¥
| 7R 7w 2 T B g Be T es
o, 8 T R 7
(1) ™M, 6-56% :

@ wh, 5%

® wR, 1™

(4) =9, T6% =-

Z 12,000 ) vm vfn feelt v sfowm affs

RS T 15972 @ Wt f, W

s st W & | of s @

" v o we w @ feel @ anoh, oft W=

is compounded annually ? e
t9. % n < lﬁ.mm‘T
() T 15420 5
(@) T 15,950° (2) ¥.15420
{4) T 14,620 X X0
ﬁ @ T 14520 ~
SPACE FOR ROUGH WORK / T %rd % fere wg



P-IVE
BT 1 Bx® < By L 20x 4 Bxy = (x + a) (hx + 2y, |87,

then the value of (a~b) is:
L 9

® -1

(3 -9

@ 1 0

HA=x*(1-3y", Bexixy?- 2x) and
C = 3y (y - 4x2y), then
A+B-C=pxtsguty? 4 iyl

What is the value of (5p + q—1) 7

(1) 18

(2) 10

(3) 18

4 8

wdhmmmhum
1

A. Ba4B

-B. 9812

C.. 9128

D. 9636
Choose the carrect option :
(1) AsndB ,
(2) Band D o
3) AandD

4) AandC

'I'h-mhtimnfthl-quﬂnn

Soe ) Oy ) ﬂ—launhuﬂunhﬂmd'

8-5x
i.hnmtﬁm: -
(1) 6(2x+1)=3(x+1) -
(2) 3(2x+3)=2(x+3)
3) 3(2x+3)=5(x+1)
(4) 2(2x-3)=3(x+1)

(18)

TR 5x? < By - 20% + 2%y = (x + ) (hx +'2y)
Na-nwah:

(1) 8

(2) -1

@ -9

W 1

A =x?(1-3y"), B=x(xy®-2x) 3
E'hﬁ"""’]trﬂ
A+B-C=pls iy + 2B |
Bp+g-nE AR TR ?

(1 12

() 10

(3) 18
4) B —

5. Bl # 3 W 2, sl 118 R 7 -

o
]

gl XD C@xad) 1

A BU8
B. @812
C. 9126

D. 9636 i

aft fae w1 w1 Aifa
1 AsB

@ B¥RD

(3 AsmtD

4) A C.—

=— W ', =

3-5x 23
TEm =
(1) 5(2x+1)=3(x+1)

(2) 3(2x4+3)=2(x+3) o

@) d(Ex+3)=5(x+1)

(4) 2(2x-3)=8(x+1)

SPACE FOR ROUGH WORK / T W % ferg oy
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(19)

Hend the statements given below and chooso
_thi correct aoption :

Assertion (A) :

Stomnch produces hydrochloric acid that helps
in breakdown of food. '
Reason (R) :

Digestive juices need an acidic mediain to net.
(1) " {A) is true, but (R) is false,

_{2) Both (A) and (R) are true, but (R) is

mot the correct explanation of (A).

{(3) (A is false, but (R) is true.

{4) Both (A) and {(R) are true and (R) is the
correct explanation of (A).

What does the term ‘nitrogen fixation' mean ?
{1) Conversion of nitrogen compounds into
gaseous nitrogen :
Conversion of ammonia into nitrates by
the bacteria present in soil

Release of nitrogen present in dead
erganic matter back into soil
Conversion of stmospheric nitrogen to &

(2)

(4)

Mﬂiﬁﬂlﬂﬁlmmﬁnﬂ_;ll

spring have the least potential energy 7

(1)
pulled out and is lying on the ground.

@

and is lying on the ground.

The spring is compressed to the minimum

and is placed at a height.

The spring is pulled out to the maximum

and is placed at a height. .

Identify the set comprising :nH blooded

(3}

@

Which of the following pairs of units are used
for measuring the same physical quantity 7
(1) kg m/fs®, Nm '

2 kgm¥®, W s 4

(8) kgmis*, We

(4) kgm¥s®, Jin

The spring is neither compressed nor
mmhw_hﬂuw:

a1,

3

P-IVE

frefiafn el = 9fge o wf fasew
mﬂhqs .

HIENT (A) ; .
T R O AW won oW
ﬁ_ﬁi v # s o § _
mﬁ&!ﬁﬁmﬁthmﬂlmﬁ
araresa B R

(1 mm, mmtr "
(R} » (R, (A
o ﬁtmﬂﬂtl o

(Ao B, e et B
iﬂ o o 00 1 8 v 0, 8
|
m@mmmﬂm#tf
(1) w1 i #lﬂ’lﬂl’ q

|

w % adifea fem W &
'Nnmmwtl
@) & w sfreen we offa awo & oo =
S e T R




P-IVE
66. Read the following paragraph and choose the

option with the set of words which would fill
the blanks correctly in the given order,
During fertilisation, the sperm cell from the
father and the egg eell of the mother fuse to
forma __ W __ which divides repeatedly to
give rise to a ball of cells. The cells begin
hHFintndIﬁEntm_lndﬂm.
This developing structure called __ X gets
embedded in the wall of __ Y __ The stage
of _X  in which all body parts can be
identified iscalled 2 ' .

W, X, Y, Z respectively are:

(1) zygote, foetus, uterus, embryo

(2) “zygote, embryo, uterus, foetus -

(3) embryo, zygote, fallopian tube, foetus
(4) zygote, foetus, fallopian tube, smbryo

. W&dﬂimwmlﬁ
- feasible ?

(1) PbSOy + Fe
(2) Al+CuS0y
(3) Zn+CaS0y
(4) Mg+ ZnS0y,

Which of the following graphs are straight

lines 7

A, Distance — time graph of a body at rest

B. WVelocity — time graph of a body moving
with uniform acceleration .

C. Distance — time graph of a body moving

D. Velocity - time graph of a body at rest

Choose the correct aption - - :

(1) A BandD S

(2) A,BandC

(3) CandD

(4 Aand B

(20)

7.




“ ()

89, Densities of four liquids A, B, ﬂmﬂnm
given below :
" Liguid A B © D
Density (kg/m®) 785 820 924 1020
! Blldmtﬂuinhmﬁmﬂmﬂhrﬂilmm
statement from the following :
(1) Annlimmunuuinﬁqﬂdﬂmnrﬂr
may not float in liquid A. s
(2) An object that floats in Hquid A may or
may not float in liquid B.

(8) An object that floats in lquid B surely|

floats in liquid A. -

@) ﬁmﬂﬂuﬂﬂutfhnhmhmniﬂmh“.

floats in liquid B.

70, Mhhﬂmn:m-n&dmm
correct option .

Assertion (A) :
mm#mthtwmﬁu

Reason (R) : !
Electric :n.mlnl isn & qnuﬁr hm
mm&uﬁurdludnwm :

(1) {h}hmmm}hmﬂ.

{ﬂiﬂuth[ﬁ}lnd{mmtmn but (R) is

not the correct explanation of (A), |

(8) (A)is false, but (R) is true. !
<y Euﬂ:ﬂ?lmdﬂﬂmhwmdf&]hihn

* ‘ mrutanﬂmhmnﬂﬁl Sl

7L 'Hhiﬂuf,thﬁ:ﬂn-mgullmmﬂu mhin
their own DNA 7

A Plastids
B. Mitochondria
C. Nucleus

- s D... Vacuole ;

Ghumthemmmﬁm
(1) ﬂmd.l} -

@ BandC

(3 ABandC-

4) A BandD

P-IVE
69, mﬂnn,umntmﬁh“p
A A B ¥ D
WW]T_BE 820 B4 _1m

v g & s W, Freffue 8 @ wh wm

&1 wgr il

(1 mhiﬂﬂﬂming;ih
ot wem & ol ot

2) whmAiEAdbmimempin
oft weeen & ofi = ot

@ v fae 7@ B H @ Bffw
#zm AT o Fom |

4) T h*ﬂﬂﬁﬂthﬁﬁtﬂm
ﬁﬁlniﬂtﬁanl

mﬂﬁﬂmwhn
s e

@A) ¢ :
ﬁwmwnﬁnuﬁhtl

o (R): | :
mmﬂﬂﬁthkmmi
wgaw Ry

) WL TR
@ () 3w 9 g, T ®), (A)
il TR R

@) WIEE L TR -
L@ ) 3l (r) 21wl T (), (AR EA

mtl

ﬁqﬁnﬁiﬂi'ﬁfhﬁﬁﬂm&wﬂimﬂ
i e g 7

A, TE% (fEE) }

B. . gEefre (ArEreiaa

c. i (RyfFwE)

p. fifirm

wH fames w1 ww R

(1) camD

@) BaRC

@ AB3MC
(4) AB3MD : S -

o,

s
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74,

T6.

i 1-2weeks -
e. Cottonshirt i 10-30 days
d. Bananapeel iv. 4years
v. Several years

e. Paper
Choose the correct option :
(1} “m-iv, bv, c-ii, d-d, el °
(2) a-v, b-iv, i, d-ii, -l
(3) . a-iv, b-v, e, d-i, e-iii
(4) a—v, b-i, e~ii, d—iii, e-iv
A feather of mass 15 g is dropped from a
‘height. It is found to fall with a constant
velocity, What is the net force acting on it 7 |
(1) Zero ' :
A2) 147N
@ 147TN
(4) 147N

An jon X* js obtained from an element X
(atomic mass 27 and atomic number 13), The
number of protons, eloctrons and neutrons in
X% is respectively :

(1) 14,13 and 10
(2) 10,13 and 14
(3) 13,13 and 10

b B =

4.

(4) 18, 10and 14

F _—Mm_.qﬂm— .-.

[3} I—h.h—#.hﬁ,d—*,l—m
(4)  a—v, b, e, d-iii, e-iv

U S ¥ 15 W FENE W YW BT aE

#\ 7w s & i 1w wwEnE A A ik

? 1 90 W W e v e k2 -
1) = : &

2) 147N

3 M4TN

4) M4IN .

X* 3FH T X (vomygeme 27 it
WHIS 18) ¥ W gam R ) X &
Vol 3t =R ) wen b
(1) 14,1310

v
S,

- (@ 10,133 14

(3) 13,1310
(4) 13,103 14
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(23)

Tdentify the set comprising planta that
produce bisexual flowers :

f1) Cucumber, Papaya, Rose

(2) Mustard, Rose, Petunia

(3) Corn, Cucumber, Petunia

(4} Comn, Papaya, Mustard

1dentify the incorrect statement ©
m Eﬂwﬂhmmmmw

@) Clayey soil is more fertile as compared to

lonmy soil.

(8) Water retention capacity of clayey soil ia

better than that of loamy soil.

{4) The particle size of clayey soil is much
smaller than that of loamy soil.

Which of the following substances are present

on the rubbing surface of a matchbox 7

(1) Glass powder and red phosphorua .

(2) White phosphorus and glass powder

(3) Red phosphorus and magnesium

(4) Potassium and white phosphorus

A snd_ B mﬂﬂrhﬂmmu

when they receive orders fromgland __ C___. |

Which of the following can A, B and C
respectively be 7

(1) Pancreas, Adrenal glands, Thyroid
(2) Thyroid, Adrenal glinds, Pituitary
(8) Testes, Ovaries, Thyroid

(4) Pituitary, Pancreas, Thyroid

The image formed by a pinhole camera is real.

Which of the following statements offers a

suitable explanation for this fact 7

(1) Light diffracts en entering a small
Opening.

(2) Light travels in a straight line.

(3) Light is a form of energy.

(4) Light changes its path' when it travels
from one medium to another,

Miimmmirﬁﬂwﬁ
o1 Frerr ¥R E 2

(10 ﬁwqﬁaﬂtmm

(2) ¥aa lesrE A1 wle w o

(3) we Siewe s iehfins

4 drefiEm o wln wieEnm

_L_dk_ﬁ__nﬂﬁwatmﬂmu&
Eomsaf _c dadmumdmd

faiferfgs § & dam o A B R C B
R

(1) s, s (W) e, i
(2) wTgiE, sl () ofl, G

(3) AW, JEWE, RS

(4) digE, =T, STEiE

geifey %t go Biffa s a=fe o

tlﬁnﬁﬂaiﬂﬁmmwmﬁ

I svE WeE W b 7

(1) wem o ¥ gu (37) . wlw =@ W

- Torafa @ omm #

(2w sl tan o e W R

(@ weTH I W o e (v

) mnﬁmﬂqﬂﬂwmt
wa Ty s e gfvafls wom R



P-IVE
81. ldentify the open-ended question from among

the following

(1) Why ean humans not digest cellulose 7

(2) What is cellulose mode of 7

) What would happen if humans eould
digest cellulose 7

[4) Name any five organisms that can digest
cellulose,

Which of the following isfare true about the
ml;rmumugmmh

clnsses.
Choose the eorrect option :
(1) BandC
2) Aand B
(8) OmlyC
(4) OmlyB

Amn‘shtmhilumlh_um

in which they are measuring the beiling

temperature of ordinary tap water in a beaker,

Which of the following i nof a suitable

indicator to assess them on this task 7

(1) Pay due attention to the least count of the
thermometer

(2) Ensure that the thermometer does not
touch the walls of the beaker

(3} Measure the boiling temperature as
100°C

{4) Use a stand to suspend the thermometer

Which of the following cannof be considersd
a6 a valid reason for incl socio-scientific
issues (such as the GM food) in the school
science curricula? ¢

1) Develops argumentation skilla

@) Helplul Jn cultivating understanding
about nature of science

(3) Develops the capacily 10 engage in| .

evidenco-hased reasoning

Helpful in apprecioting selence ns
i definitive discipline

(24)
B1.

il

ssgeq ©
giifﬂgé
f“igai

e

|

@ = @ 5 it 8
imﬁggﬂr

(8) TR R 100°C T

() wabfter 9 wrwr ¥ e e w1 v

foffm & @ T '

WE R o § wea o f gwm @

bt _
U it PR % g § e @
ITHE WA e bk



(25)

After teaching the chapter “Respiration in
Organisms’ in Class VIL, a teacher performs
the following nctivity with her students. They
take three test tubes and fill 34" of each with
water. The test tubes are Inbelled as A, B and
C. They put a moail in test tube A, a water
plant in test tube B and in C they keep snail
and plant both. The teacher then aska the
gtudents which test tube would have the

highest concentration of COy. Which process| '

skill is the teacher emphasising in this case 7
(1) Predicting

(2) Estimating

{3) Measuring

(4) Question raising

Which of the following is nof correct in respect

of the activities suggested as part of ‘Extended

learning’ in textbooks 7 _

(1) These are an important value-addition to
children's repertoire of knowledge and
skills.

stodents’ evaluation.

(3) Some of these require students to collect
information of various kinds and draw
conclusions on their own.

(4) Some of these enhance children's
interaction with experts, teachers and
society at large. )

Which of the following isfare ordinarily mot|

implied in the context of “Content validity’ of
Sdience curriculum 7

A The content is updated.

B. The concepts are accurately represented.

C. The concepts are trivialised for some
learners. ;

Choose the correct option :

(1) OnlyB

2) Aand B

3) ABendC

(4) OnlyA

@ ﬁiﬂpmﬂ#m.ﬁﬁﬁ.

rxtmﬁﬁiﬂ:ﬂmﬁm
|

.'fﬁnmﬁhﬁwtﬁﬁ

# Frafafem # 3 SRad wewe: wiefm

T e

A Hmﬂmm :

B. m frfm ¥ .

c. %o fafifal % R swarons 9 geo
o T R

wfl fawrg w1 v i ;

(1) | B

(@ Ashp

@ ‘A, parc

(4) W A




PIVE
88. Which of the following ¢an be considered aa

the most suitable rationale for team teaching ?

1) It is an effective strategy for large pized
clnsses,

(2) It benefits the students with diverse
expertise,
(3) It makes the task of assessment casier,

-[I-Jitl!hllﬂhlhinﬂ-inqﬁﬂlﬂt

- pirulﬂ:ltﬂnn._

Whi:hnfthll’ullwi.n;undllhﬂumh

miuﬂamﬁﬂq-hhhu&mihwmnr

image formation in spherical mirrors in

Class VII students 7

(1) Students are askied to observe their
'hlw'ﬂvmmpndﬁmh'lﬂm-

(2) Students are asked to play with'shiny, | *

_ ndqpnuuuimmmh
it-n- k. = . o

(8) Students are explained the laws' of|

. Which of the following is nat implied by the |

statement ‘Good science education is true to

thd:ﬂd.mmtiﬁndmuﬂu

discipline’ 7 I S SN

(1) Science education should ‘help . the
'ltu:lanhlquinﬂumnhdm.

mmnﬂmﬁmﬁwidhuﬂdlﬂnk

environment.

(8) Science education should . train the |

- students to remain disciplined in school,

{4 S;chnudlmnmﬁm'.h,uuh

developmentally appropriate.

(26)
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P-IVE

didates. have to do gquestions 31 fa 50
HER : from Pari Il (Mathematics and

from Pari T (Social

witaniaat w S¥T a1 7 90 W A W I
fira) & WP NI (RS sy |
fagrr) i wd £ 1
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m STUDIES /

. Directions : Answer the following giestions b
 gelecting the correct/most appropriate option, i
~81. Consider the following nsscssment question
‘What are the ways in which people can
participate in a democracy 7' Following are
some answers that you get from students,
Which answer reflocts the student's
understanding of the gquestion and histher
ability to give a comprehensive ‘to-the-point’
answer ?
(1) “Some key elements that influence the
- working of a democratic government
-are — people’s participation, resolution of
mnﬂiut‘lnd commitment to equality and

justice.
(2) “Voting, dharna,  rallies,  social

movements.”
{(3) By voting in elections.” .

(4) In a democracy, people "participate by
" wvoting in elections. All governments are
elected for fixed periods. In India
period is five years.” :
Consider the following assessment question :
"What is the difference between weekly

markets and shopping malls 7

Below are some answers written by students.

In which answer does the student fail to

display ability of comparing/contrasting 7

(1) “The products sold in weekly markets
could be bought at cheap rates whereas
only a few people can afford products sold
-in shopping malls.'

shops whereas the shops in shopping
malls are built to last.’

‘Weekly markets run in both rural and
urban areas whereas a shopping mall is
usvally seen in urban arcas,’

‘Weekly markets are markets which are
held on a specific day of the week
wharess shopping malls are

m bulldings with shops on
different floors,” e

{4)

Wﬂhrmnrkut-iunﬂhﬂplrmﬂnml :

| PART 111 / W 101
SOCIAL SCIENCE
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Seme
Earth is not flat, then how are showi
wnmldn;uﬂn? mp ”

students of Class V1 question that if the |33, m& MEF&E&

.

1

.i
W 8 R

g“mﬁﬁﬂﬁnﬁmﬁhﬂh .

(1) e & e WE‘TW
aih'lihwﬂ

18 ﬁmﬂmmﬂi*hm

(4) Tarenfifat =t ;
%ﬁhﬁﬁnﬁammmu

correct oplion ;
mw;_hl o gﬂmﬁnmmtmmgm
Reason (R) : m
Eﬁm m-'lphn:;. prehistoric artifacts, mﬁﬂ. o wi m
Semepcasent peoof of many domains o Soca mﬂﬁﬁﬁlﬂﬂ“!l
(1) Both (A) and (R) are true and (B is the mﬂt@aﬂwimm u.mm
(2) (A)is false, mm:fu[ﬁ B m:um! mah d
@ Emmm-nm but (R) is not| @ % mt wgm.mi
0 mhmmm}hﬂa | ; ['“ ﬁﬁﬂlmtl .
Read the following statements and choase the |30 TR s aR et fwer =
mnpt:n i i wm ! |
*The nature of Social Science is evidenéo-based. o : Wi meg-snis
empirical and verifiable, @h . J
S g gragrape . & m’m"#"t'l o R
T m - - !
ilhrpﬂ:ﬂmuf:duhmh ﬁ#ﬂﬂm?imm%'@
(1) Ais troe, but B is false. (1) Awdtd, s BUem d
(2) Both Aand B are false. - A3 AR B3 e |
5 fﬁ ﬂﬂhﬁﬁym A3) AT R, s BEd R |
A und B are trie. . . ﬁlﬁtﬂa;aaﬂ!1 .
anrdmnpim:n_uflmulmu ﬂi“mmﬁtﬂimgnﬂi
u:lumn-m.nﬁuw.ﬂnuun‘m Mtﬂﬁﬁlmlﬂﬁmmi
mnwﬁu&mmmm Fﬂt.mmﬁm‘wﬁmmﬂﬁﬂ'
and gentle, whereas ‘science requires a| . m‘ i“i":ﬂﬁ“l“mﬂ‘hﬁ 3wy gt &, v
mdnmmdm&m-mmmmi - nfewnd AT it § ol
dealing with technical things’. T Fegell w '
grnmmmmmt - wftE aahekl b
2) Gender e Tl e TRewmAr |
(8) Gender typing 2 S wigwg uwn '
(4) Gender diserimination (8) et wifwwor wey !
(4). WEx v



8T

To

B. To show the challenges of seeking justics |

(20)

familiavise students about - olection

procedure in India, which one of the following

would be the best pedagogical method 7

(1) Asking students to conduet survey in

+ their neighbourhood about election |

Organizing an election in the ¢lass for

claes representntives

Screening & documentary on A Jocal

election

(4) Inviting an expert for n lecture

The best possible practice for sensitizing

students towards the life of tribals and

nomadic pastoralists would be :

(1) screening a movie or documentary on
Bakarwals.

(2) lecture and seminar.

{3) a group discussion on tribes and nomadic
pastoralists, '

{4) textbook reading.

While students are engaged in a group

discussion on uses of water, a teacher should

use the blackboard in which of the following

manner T

(1) Arranging responses around concepts,
themes and issues. oy

(2) Noting responses of students who
considered bright in the class.

{(3) Listen to the students but not necessary

to record. )

(4) Recording every word said in" the
discussion

A teacher takes students of upper primary

classes to the District Court, after finishing

the lesson on ‘Criminal Justice System’. Which | -

of the following -objectives isfare most

appropriate for the visit ?

A. To provide experience of the functioning
of courts and interact with lawyers,
judges and staff on the roles they play.

(2)

(3)

and create awe of the system.

C. To scare students by showing difficulties
faced by those implicated in various cases
and encourage law keeping. )

Choose the correct option :

(1} OnmlyC '

(2) OnlyB

(3) A, BandC

(4) OnlyA

T T S ——————

ST s

T w1 el
mﬁmtﬁum

snfenfii ol weamd) gt (v &

:ﬂﬂtnﬁﬁmﬁlﬁﬂm#ﬂh)h_

FWTEy ST B
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PaLE : (50)

41 Which of the following are the prevailing|41, Fsfers A W W P ¥ w3 |
" misconceptions nbout Sociil Scioncs 1 ﬂiu..ml? , 1
A Itis n non-utilitarian subject, A =g uw famrd R g
B. msdmhnmﬁwhﬂu ;g Wm.mﬂmihh |
ﬂWmHmﬂnﬁrﬂm ;'j et W "31:
: armfas 7 forman we frefis
spocialising in the Bocial Stiences is in P
academics, (Fivamfecdi) # # # 1 |
Choose the correct option : aft frEry = S B
(1) A BandC . ir ABaRC
@ (2) BandC (» Bamc
) 13 AB, CandD (3 A.B,C3lD
g @) ACandD @ AcC3mD |
ﬂ%i-mhﬂmmm‘hmﬂ I w6 T W A % e oo
*hould a child have prior knowledge sbout to ﬁﬁmimnﬂmimiﬁ
understand the concept of the Torrid Zone ? hﬁmmﬂqﬂhﬁ
A. Longitudes : , A T _
B. Globe . B. . i,
C. Insolation ‘ C. e
D. I-ll:};.ﬂ- D. =&MW
Choose correct option : . v ﬁh‘“
) A CandD : { M Ac#rp
2¥ B,Cand D - @ B,c3kD i
@ A BasdD . @' ABaRD
(4) A BandC v & A BsvC
43. Hmwwmmﬁﬂ,mﬁﬁﬂ!mﬂﬁHH
correct option : 551 Hifim
Assertion (A) : . BT (4) _
Political Science was to bring back the foeus m.m:mtm&nhm
hﬁn&nmﬂ'ﬂ_nhmmw mﬂﬁ*h‘ﬂl
‘Civics’ appeared in the ' Indian schog] _ o :
curriculum during Colonial period against the m?mm:mﬁlﬂhﬁEIﬂ
background of increasing di smong| e & w5
Indians towards the British Raj, Srewsat § Smies W’ sy -
(1) (A) s true, but (R) is falso, A AT R, oy e g |
(2) Both (A) 2nd (R) are true, but (R) is ﬁﬁ“*mﬁ!ﬂ!ﬂﬁﬁm.mﬁ
not the eorreet explanation of ol = e
(8) (A)is false, but (R) is true, @) (e R, o mwh g
(4) Both (A) and (R) are true and (R) is the| . (4) (A) 30K (m) w6 ¥ v ), () W
carrect explanation of (A), " = R
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P-IVE

. (4) ‘Both (A) and (R) aré true and (R} is the

Which of the foll assexament questions is
the test  students’

'Il.llh'l':r:d udeuuﬂﬂfhﬂil
ing apprecin n

am "

(1) Write a brief note on the three organa of

the state — the legislnture, the executive
and the judiciary, '

(2) What are the three levels of the

& mm?ﬁ:thrMT

; you think might happen il we

did not h::&ﬁd state and Jlocal

at the Centre 7 md?

A lﬂlm.‘.ll'-lﬂ effective 'I"Ij" ﬂfm.

students learn -ﬁ: the different typos of]
Reason (R) :

A serapbook must be assessed only by the cost =

of different materials used in it.

(1) (A)is true, but (R) is false.

{2) Both (A) and (R) are true, but (R) is
not the correct tion of (A).

(3} (A)is false, but (R) is true.

correct explanation of (A), :

“What kinds of questions can studezts be'asked |

in order to test their factual knowledge 7
{1) Knowledge of terminologies ‘-

' (2) Knowledge of dnﬂﬁu.ﬂuualml

. categories X
(3) Strategic knowledge

(a2)

g

\=

(4) Knowledge of subject-specific skills

*
-3

o Tt ) s e 6 T T AR
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AT AR, wg mTEa R
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-

(1

_4) 2pm.

. (3) Man made activity

mmﬂwmw
3 gouthern hemisphere. 'T
llﬂm-ﬂfthl'.

-Ehmul.hmutq:ﬂm
1) B,Cand D

-hmﬁnmﬁud:iwnmnﬂﬂhtndhﬂn

(33)
JIf Greenwich Meridian Time 5 12 noon, then | 51,

ihlt-i]lhﬂmﬂmnntiﬁ'ﬂuthnﬂihuh?
(1) 'Blm.
@ 3

iﬂ}ll.m

Sen caves are formed in constal arens. B-e'lu:t
the suitable reason for formation of sea caves ;
(1) Erosion and deposition by waves

(2 "Wind erosion

(4) Falling of rocks
Natural vegetation varies from :plnu:tn placo,

Why do evergreen trees grow noar equatorinl
T 1

following : : =
(1) Moderate temperature and moderate

Consider the following statements about
latitudes. Which of the following is correct 7

mmwﬁnun%’

@ mmunﬂl

2,
equater.

[-I.J Tnﬁedﬂmwplﬂwm |

hoemisphere.
ﬂinhtnqnﬂpuu-hnwnuﬂu

{1] Equator SR !
wnﬂw . -..'._.

(3) Axctic Circle

{(4) Tropic of Cancer .

mmmmmmmmshh

from the following :

A. Longitudes and latitudes are drawn on
the globe.

B. Itia on ite axis.

C. Ithlmmndulnfwﬁﬂlﬂh

D. R is oval in shape. :

@) AB

north’ of the|

A.
B
2
D.
wl

@ A
A,

e e e i P

wgiwt &t § Pefefye T W RER
mumnmwn

@ wﬁmhi 21 :ﬂ:ﬁ

@ mlmmrhm#ﬂﬂmtl

Mﬂmm# zar L
4) ﬂhﬁﬁaﬂﬂhuﬂtu—

et w2 WO Wit i Wlet & for Efieh
R TR

(1) e Y

g e & 1
(2) wetEn
(3) -I-gEE g

whia — ,
giﬁhﬂiﬁﬁiﬁ‘iiﬂ"ﬁ‘mmﬂ‘lmﬁ

mﬁhﬂtm aﬂti‘«'lmﬁ“'{t'

‘E:mén

(L B,
2 A

(4)



P-IVE (34)
B7. Stratosphere has ideal conditions for flying
acroplanes. Choose the correct reason :

‘(1) A, B-II, C-IV, D-III

(4 - AV, B-1, C-II, D-IT

(1) High nir pressure

(2) Low air pressure

(3} Free from clouds and related weather
phenomena

(4) Windy conditions

-\.l.‘ﬁ

8
67, waawiwe # whfeufal TR e g

oo, sy et # | it v 1 W i,
(1) = 9y 7w )
(2) P avg 7

A3 wEEt e e wad TS @ A ey
4 sl aeh afefeaferal (f =)

|68, P et o wh frem AP

Match the fallowing pairs correctly : & i 1
Column | Column I A. A T I &nEE
A. Ozonelayer I. Troposphere B. g i n. afetem
B. Radio transmission 1. Exosphere C. daw gah gzt 1L SEEEEE
C. Weather phenomenon III. Stratosphere D. el Ay IV, % aees
D. Thin air IV. Thermosphere ' we fawey = w9 B ;
Snas Cus wenwat pten : (1) AL, BII, C-IV, DI
1) A-IL, B-I0I, C-IV, D1 A9y A, B-IT, C-ITT, DTV
(2) AL BI, C-II1, D-IV (8) A-IV, B-I, C-I1, D-III .
(8) A-IV, B, C-II, DI (4) - AINI, B-IV, C-L, D-II
(4) AL, B-IV, C-I, D-IT - 89. TeE wm, ™ wmywrln weaw B owife g

:ﬂ]fﬂhqm is & warm ocean current because
(1) mﬁmpﬂ.hy_plhr
(2) gets heated from underground

Match the following pairs
N Types of Farming Areas/Regions
- Bhifting I. Semi-arid and
cultivation arid regions . *
B. Commercial II. Thickly populated
C. Intensive ITI. Thickly I
¥ forested
subsistence arcas
agriculture ;
D. Nomadic IV. Temperate
herding Grasslands
Choose the correct option -

(2) A, B-IV, C-I1, D-I
(3) A-Il, BIIL, C-I, DIV

Choose the false statement from the following
muug'ﬁwnmmu'.

(1) Biogas causes greanhouse effect,

(2) Solar energy is renewable energy.

(3) . Tidal energy is exhaustibla.

(4) Wind energy is non-polluting,

r | .
(1) g & st &t 3R wwd 2

2 simdin (qfy & 99) 3 mf a2
(@ i Tl % s (A gro o Enf d
() et % Pz g oW R,

Frefefas w1 T e
Wit Tk

A Tl wR L E—Fm!ﬂi

B. i 0. ¥ e as 85

C. e Fafe st 1L e o = i

D. =eand syamo 1V, sy

(1) A-I, B-IL, C-IV, D-IN1 :
(@) AN, BV, C.II, D1 ' ;
(@) A, B, C.I, DIV

@) ALV, BL, CIIL DT ey

Pl el § 3 T ' .
N | ‘H‘f‘mm’i’ W AT |
T L R T ——

@ ity 3 e it 4 |

@) T A e gt




*

over long distances 7
(1) "Waterways

{2) Railways

3 Airways

{4) Roadways

Suggest the type of resources we should use
more, in order to save our environment.

" {1) Non-renewable resources

(2) Renewable resources
i3) Human made resources
i4) Abiotic resources

During & class activity, the teacher asked
students to select dolls which identified closely
with Adivasis. Most of the students picked up

dolls wearing colourful clothes, head gear and | -
in dancing postures. What does this behaviour | |

_ demonstrate 7

{1) Discrimination 3o~

(2) Stereotype -3 ',

(3) Progressiveness .

(4) Prejudica’ =

Being prejudiced towards someone implies : .

A.  Tojudge them negatively. .. 3

B. To consider them superior. :

C. To disrespect those who are different.

D. To diseriminate sgainst members of a
Eroup. :

Choose the correct option : i

(1) A, CandD - <

{20 B,CandD

3) AB,CandD : I

{4) A,BandC -

_ Read the following statements and choose the

correct option :

Assertion (A) :

Federal system fulfils the needs and demands

~ pf the cultural diversities in India.

Reason (R) : '

It establishos multiple lovels of governance in |

the country. y
(1) (A) is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is|

mot the correct explanation of (A),

(8) (A)infalse, but (R) is true,

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A), h

(45 )
g2, Which of the follewing menns of transport is
cheapest for carrying heavy and bulky goods

62,
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P-I/E

7. Which of the following incidents are identified

as violative of “The Scheduled Casies and the | -

Scheduled Tribes (Prevention of Atrocities)
Act, 1989'

A. “ﬂmhlhpmﬂuia'pmhm
people

B. a member of a Scheduled Caste
cCommunity to ent obnoxious substance.

C. m‘“"h!mh-iﬂhltimhrmrm.nhh
exploit tribal land, :

D. Marrying a member of Schedulod Caste
community. . 4

Choose the correct option :

(1) ABand D .

(2) A, CandD

(3) A,B,CandD

(4) A,BandC

“The Mid-day meal scheme has helped reduce
social justice” Explain the statement by
A.  Children of all castes eat together,

B. In places, . Dalit , women ure
' ﬂhmﬁm .

C. Enrclment of poor children in schools has
D. Reduced the dropout rates in schools,
Options : '
(1) A,BandD
(2) A,CandD
(3) A,B,CandD

(1) A BandD
(2) A, CandD
(3) A,B,CandD
(4)' A,BandC

(86)



possible reason behind this :

(1) Overvaluntion of ofMicial work

A2) ' Less time taken for household work
(3) Patriarchal sot-up of Indian sochety
(4) Devaluation of houschold work

socio-economie status have to obey the
~ same law. hn il

B. no pérson can be discriminated against,
in the eyes of the law, on the grounds of
race/colour, religion, easte or gender. ;

C. inequalities cease to exist,

D. it ensures fair opportunities and a life of
dignity for all the citizens, - - i

Choose the correct option : \

(1) A,BandD

{(2) B,CandD

(3 AAB,Cand D

{-I‘.Ill A,BandC

®
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76. Which among the following services can be

PIVE (88) : h
T4. Which of the fullowing pairs are: correctly |74, Freforfiyn F & whad) g wilt giftw § 2
matehed 7 I I
! n s T & YR
Work Farma of Employment A, Tt ~ feh g -
B. Domestic worker - Casual workers : b - s
E ::lﬂtlhh'mh— Self-employed C. wot falbm - W
“E:Mln__ - Dusinesspersons D. gwm i g - ST
Choase the correct option wét e w1 s il
1) ABandD (1) ABawD
(2 ABandC A Bsfhe
3) ACandD (3 ﬂ.ﬂmn
4} AandB 4 Aslme

7. The cities have witnessed increasing
rural-urban migration which has resulted in
growth of slum areas near the industrial sites.
The reasons for this type of migration are :
A. Deterioration in living standards in

urban areas

B. Ih'nuﬁmnrj'm.lllhu-mlﬁht

C. Decreased agricultural productivity

D. Increased skilled workfores in rural areas
Choose the correct option : ;

(1 A BandD

(2) A,CandD

(3) A,B,CandD ,
(4} BandC . i

N
i}

included in the Public Services' ?
A. Police Services

B. Judicial Services

C. Educational Services

D. Construction Services
Choose the correct aption :

(1) A,BandD

{(2) B,CandD

(@ A B CandD

wm @ # afz 3 v § | 96 TR & v

el &5t F e & s o saify

> o
3
]

'ﬂﬁﬁﬁﬂwmﬁh{:
(1) A B3fkD

(@ B,Cc3RD

(%) A B, C3D—

(4) A BandC ~

(4 A B3O



(89)

77. ~ The Ibert Bill was opposed in 1883 boenuse :

A. Indians opposced the Bill a2 il gave a free
hand to the Dritish government 1o have
trinls of Indians without evidence.

Britishers opposed the Bill as Indians
could take up trial of British or European

. €. the Bill sought oquality between British
nnd Tndian judges,

D. the Bill was racist towards Indian people.
Choose the correct option :

(1) OmiyC

(2 BandC

3 OnlyD

4) AandD

Consider the following statements with
mhmmﬂpﬂiﬂulﬂﬂl

Assertion (A) :
aniumﬂnﬁmﬂmumuiﬂmﬂm:ﬁhr

‘before law, nm-hﬂummnmqullﬁ.m'=

others. sl

Reason (R) :

--..muuh#mmﬁnlnhnﬂmﬁmﬁm .

mmﬁmm e

Choose the correct option :

1 Bﬂmlﬁ[ﬂ}mmmﬂmhm

(2) (A) is false, but (R) is true.

(3) Both (A) and (R) are troe, but (R) is not
the correct reason for (A). |

(4) (A)is true, but (R)is false. .
Below are two statements A and B in the
context of Khilafat Movement.

A In 1920, the British imposéd a-harsh
treaty on the Turkish Sultan (Khalifa).

1 -':-

™.

B. Indisn Muslime were keen that the|
Fhalifa was not allowed to retain control |

over Muslim sacred places in the
erstwhile Ottoman empire.
Choose the correct option ;
(1) Ais true, but B is false,
(2} Both A and B are false.
(3) Al false, but B is trus,
{(4) Both A and B are true,

PIVE

77, 1ees # wewd fam % Emp w0 w e g

T

A, vl 3 e frig e wifs ga e
§ fafen wowr W) Fen g % wei T

B,

(2)
i
4) Mﬁm

o i s e e e
ﬂh.

mﬁhﬂﬂ # T A T A
t,aﬁqmﬁ?ﬂp-mdﬁt
mmm '

mﬂiﬂﬁiuhﬂmﬂﬁmnﬁ

(A) 3 mﬁﬂimmmnaﬁ _
wR .
(A) e B, e Ry el R
(A) i (m) 2w K, v ®, 0w
i

C(A) mam}m [

% WA A 3 B, faemea m&lmiﬁﬁ
I

mi.mﬁﬁigﬁigﬂn{m&ﬂ}
o wEn W wi dr d o |
vty wEewE W @ fR R SR
e o fam ofay gfem =e W
wellwt w1 P 1l e e @ |
o) fameq w1 g i

(1 Awh#, mﬂmtl
@ AR

B A
o amuaﬂn




F-IVE (40)

correct . 97 Fifew .
Anuﬁ:tlp: Nfirwers (A) ;

and officials of the Company begnn investing
in indigo production. '
Reason (R) ; o (R) :

Indin and became planters, I‘mﬁ-ﬂlﬂ;?'ﬂl
(1) (A) s true, but (R) is false. () —(A) ’

not the correct explanation of (A), ! :
(3) TA)is false, but (R) is true, @ wrend weeh R

: ; = # |
wmlmmdw. - a1, ﬁﬂfhh“ ﬁwiﬂ#ﬂmgﬁﬁi |
81. Which of the following statements true Y ? |
-hnutnfddh'nhmunp! m A gl pﬁﬂmgmﬂ:ﬁlﬂﬁt;
A. Our sufferings and unhappiness are a| afterm ¥ | : |
resuls of our eravings mad g fives ol R TR E | '
c,nu_hg:;muu:‘ﬁunmh C. o oEmew it ® B gz ¥ of
teachings of Buddha for a happy life. ‘ W FH TR W W s
Choose the correct option: . ' T ST ST o |
2 oo Cen s e R

(4) AandB . : ~8— A 3¢
82. The increased demand for Indian textiles in| ' - @ A¥RB ' y

European markets in™ the sixteenth and

seventeenth conturies led to the following| mmmmﬁﬁﬁm

AT gt o o
suanges o Tndian yuaves: - ; mim_miﬂu,
ey crafta of apinning, Medching| ' st w3 war, werd i i
B, Increased independence in working off o HﬁﬂmﬁTm|'ﬁ TN
C. Variety in designs and increased c. fewm R freredl 6
creativity of eraftspersons WEHwAT
D. Wmﬁlmmmhmidrm D, ﬂﬁﬂﬂﬁﬁmﬁmmﬁﬂi
Choose the correct option ; - \ Hﬂﬂmmiﬂﬁm;
| () S : (D a;‘f:n- -
(2) Bar o (20 _Balve
iR (3) CandD @ o3fvD
. (4 AandB__ 4 Asfrns

80. Read the following statements and choose the |80, frfirfim wt @ ofgn 7o ot e

As the indigo trade grew, commercial agents ﬁ-ﬂfﬂmmw.mm
L]

Attracted o profus,| T B At nfires vy & It B,
mmmmﬁhﬂ:mu # d@m iz ol ¢ & wm am

(2) Both (A) and (R) are true, but (®) js| @ WM @A HE TR, WH

- ®), W =
(4) Both (A) and (R) are true and (R) is the (@) (A) 3l (R BT wEt & A wf
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M
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‘ (41}

=Jrnﬂ-f,ll Phule's book of 1873 on the diemal
conditions of ‘lower' cnates "ﬂdtﬂh:ﬂhl

(1) H-Hr-ﬂm of anti-colonin)l movement of

(@) Bhakti singers,

(8 ﬁﬁwnﬁ#ﬁhﬂmm

{4) Brahmo Samaj reformers,

Consider the following statements ¢ :

By the second half of the nincteenth

contury, people .from within the

movements against caste discrimination

and demanded social equality and justice.

The Satnami Movement in Central India

was founded by Ghasidas who worked

among the leather workers and organised

a movement to improve  their social

status, -

Choose the correct option :

{1) Aistrue, but B is false.

(2) Both A and B are trus, but B'is met an
exnmple of A : h

(3) Both A and B are false. "

(4) Both A and B are true and B is an
example of A. '

Who among the following reinterpreted verses

from Quran to argue for women’s education 7

(1) Begum Anis Qidwai
(2) Mumtas Ali

is less information. .
medieval rulers ventured.

British established their rule.
they were isolated and lived in seclusion,

they did not keep written records so there |

they were not living in areas where ..

lhummulindlshtmh'lﬁﬂrﬂﬂ:

aa. T’ Pt
W vk Feam
(1) wm %

tmmﬁ_ﬂ"mﬂ
. ]

-

=t ,
" @ AsmBIHivem ¥ '
(4) ;I-kn#whkn.anm
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PIVE
87. “In the register

(1) " Koldihwa

' (4) Herders were expected to pay taxes in the

Bccount did not fall under the column of men,

how did she gain from il of her excellont| .

Qualitios 7 For whom was this passage
written in the thirteonth century 7

(1) Didda

(2) Raziyyn

(8) * Gautami
@) Rudramadevi

Which of the following stalements isfare troe | 3%

about technology used in the twelfth centary ?

A Arches were constructed to transfer the _

weight of the superstructure,

B. thunhhuﬂtmul_jdthhu '

stone. y
Choose the correct option :
(1) Omly A ;
(2) Neither AnorB -
(3) OnlyB
(4) BothAand B

E - ﬁ
hﬂﬂhhﬁnﬁqw
mmmﬂmﬂmﬁ C
(2) Inamgaon
(4) Hunsgi

Which f following is mot true for

Hl.hl}u;lm;-;uthwhl:-ﬂu collection of

regular taxes 7 : i
provide forest produce to the Raja.

There were taxes on goods that wers
- bought and sold, through trade.

1
(3) Um.'[h.rt_ln_mm}plwulhndu = (half)
of what was produced. - 2

form of animals and unimal produce.

(42)
of God's creation, since her|gq wﬁ,mtﬂi‘mmﬁﬂ

#H drifrft % oy §
Mﬁﬂmw&i? _
A it W Pefw sfeen oo

wawiate w0 % forg far s an
B. HEUs W Wy 9 STRREET sEe ) |
! famen w1 w19 Hif
(1) =9 A
(2 -AdMAsafip
3 ¥=EB "
(4) Anwg BEEf —

L

Freaferfia 3 3 -l goomm e g
dWm @y

(2) Tl .

(3 wwify

RORE _
90, Fefefam # % S woeas & Bafi o

A T % wed TR

s 7 B Ul R RO g
{I}th}tn'llndllﬂlumﬂluhlﬂ.h_. :

TR T A of |

@) s R w0 ¥ At o e wg W
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Directions : Answer the M questions by
Hhﬂiﬂ.ﬂhwﬁmjwmnpﬂnm

®1. A teacher showed a movie with the eaptions to

93. A child shares her langusge classroom

© .7 (3) Iremember langiage well when I copy i,
1. (4) T remember language well when I see it,

(44)
PART IV

LANGUAGE 1
ENGLISH

learniers in Class VI The movie is based on
one of the chapters in the textbook. The movie
with eaptions on will encourage : '

(1) mmuﬂnihh:;,uﬂ

A2} active viewing and listening:
(3} the students to watch more such movies, |

(4) listening strategies by verbal clues and to|

appreciate the actions of actors, and to

Assertion (A) : ':' ey A e
A child in his early childhood stage uses more

. o
]

?ﬂhthummiipm-hm
L] E." l] i _'_ i

rules.

Reason (R) : !
'I'I:qh:kmhuhq::;m.
(1) ({A)is true, but (R) is false.

(2) Both (A) and (R).are.true, but (B} is].. . 1)

3) (A)is fulse, but (R) s true. -
(4) Both (A) and (R) are true and (R) is the

=

correct explanation of (A).

experiences with her mother and says that
mmﬂhnunmrnurumudlham
uhuumﬁd:naﬁaﬂmﬂhh:.ﬁm“

have to try to describe it. It’s a really good way |

tolearn. ~

m:mllhnwlthuﬂliﬂd'nmﬂf

(1) 1remember language well when I move,
(2) 1remember language well when I hear jt.

/. {8) ‘Confased state of mind . -, !

i-t_. .:I,

#4. Read the example of what a learner does ap

chooso the strategy that matches the examp),
“If I don't know what something means, 1 lng,
it up.®

(1) Conmting efrence materals

(4) Fuu.tdn:unml]mﬁnnl : |

- A diagnostic test is used to assess :
(1) learners’ ability to summarise the mai

pointsinatext: | .
(2) learners’ ability to recognise their gwy

- (), and . rank - learners in_ order of

(4) “learners’ lh'l!l!l' and weak points in

"‘M‘Tﬂhﬂnﬂlurmmm“d
paked them 10 do & quiz about ‘clephants

before
ohioctive of the toncher o gg " them- T




8.

(46)

In a langunge clomsreom, a student ' is
disturbing the class. To handle this disruptive
student, the teacher should :

(1) first talk to the children to offer remedies,
(2 ﬂdmnhﬂmputmﬂmh _'
3 mnmmumm

(4) mpnrthhhwhururﬂumuth

When students “brainstorm ideas, organise,
draft, edit and revise their work,” which skill
doos this process reflect 7

(1) Reading skill
(2) Speaking skill .

{3) Writing skill

(4) Listening skill

l-ﬂth-hlhvh[:uuduhmﬂn
correct option : »

 Assertion (A) :

101.

Reading and writing skills help in eritical

thinking at the primary level.

Reason (R) :

ﬁiﬁulthinﬂqutm.b—dﬁlldmﬂh;md

writing.

(1) Both (A) and (R) are true, but (R) is
nﬂhmﬂmﬂmﬂmdm

{2) Both (A) and (R) are true and (R) is the
correct explanation of (A),

(3) (A)is false, but (R) is true.

(4) (A)is true, but (R) is false.

Language skills are best learnt :

mﬂthﬂnhbd'chtIWn;uﬂ'
mechanical

language drills.
(2) if the teacher focuses on one skill at a
time. ;

() if they are deslt with in an. integrated

4) only through
mssignments,

written _ testa ‘and

102,

103.

P-IVE
To asacas whether students have understood
hew fo use the narrative skill, a teacher
should ask studenta to !
(1) share an incident when they were
surprised. =
{2) circle the verbs and adjectives in the text.
(8) correct the mistakes in the use of
describing words,
(4) read a story and answer
eomprehension-based questions.

A tescher of Class VII is facilitating the

reading of books other than the prescribed
textbooks. She is promoting their :

(1) Intensive reading

{2) Shared reading

{3} Extensive reading -

{(4) Guided reading

The principal asked the language teacher to
the new session, While selecting them, which
one of the following is nof relevant 7

(1) Adaptability of the books and resources

. (8) Laevel of the students

(4) Conceptual complexity and ‘density of

The teacher developed the criteria te monitor

.the use of language materials by learners.

Which criteria are most important and helpful

in monitoring the use of material ?

(1) Present, prepare and prlnhﬂ the
material

(2) Usability, repetition and production of

: utterances . -

(3) Observation, feedback scasions and

 (4) Checklist, assumptions and learning

outeomes



FI/E

Directions : Read the extrart given below and
answer the questions (Q. Nos, 106 fo 111) that follow
by selecting the correct/most appropriate option.

1- Love came to Flora asking for a flower
That would of flowers be undisputed queen,
The lily and the rose, long, long had been
Rivals for that high honor. Bards of power

tower
Like the pale lily with her Juno mien’ -
But is the iily lovelisr 7 Thus betwesn
mmmﬂﬁhw

10

ﬂm :Inluﬂhlﬂ;ruth“

Reason (R) ; : S

{I} w.hnﬂtmmhplrﬁdlrhnh'
(3) Both (A) and (R) are true. i
(4) Both (A) and (R) are not true,

108. Wwﬂmﬂuﬂﬁﬂ:ﬁlmﬁd.
the supporters of :

(1) Love and bards of power.
(2) the lotus and the rose.
(3) l.ll'ﬂ!llﬁlllr.n'lhu:r-l»:mnn,1|:||‘:|n|1:u;[jj:|a|-+
(4) the lily and the rose, =~ .

- 109, Identify the rhyme scheme in lines 1 - ¢,
(1) abab :
(2) asbb

(3) abba
(4) abch

(46)

110, Identify the pootic devices in: Line 1

=
I F

(1) anaphora, motaphor
{2} personificotion, simile R
(3) metaphor, simile x )
(4) alliteration, simile

Complete the word analogy :
delicious : inviting = strife : 7

(1) conflict

(2) melody

(3) adventurs

(4) discussion .

Directions : Read the passage given below and
ansier the questions (Q. Nos. 112 to 120) that follow
by selecting the correct/imost appropriate option.

1

111,

l

actuelly, but why should that stop anyone from

'|trying to get the job they really want ? A really |
ﬂlhuﬁn.dmwﬂldmnm-ind,inmmr {

ways, will need other people to give up trying so
that he can sucesed. ¥ : e

%?*“.“+Mﬂr think that because
they studied marketing, all they can ever do is werk

job is too hard to achieve, too competitive and
believe that it is all & matter of luck. All this is trus =

2 Many job seekers feel limited by the choics |

A majority of people think that their dresm |



Iﬁmmup.hmmlﬁmm.ﬂ
hmmmMﬂIﬂm&‘upmﬁ
+ earcer ladder. There is a lot (o be
- mmmmmmuhmm
will probably be little money, but it will be worth it
in the end. The best jobs are not supposed to be
easy — that is what makes them challenging. And if
you like a challenge, just keep your head down and
go for it.
112. Read the following sentonces -
PR irpdemce . 42
B. Few people believe that getting their
dream job is a matter of lugk.
€. A majority of the people think that dream
jobs are highly competitive.
(1) Band C are incorrect, A is correct.
(2) Amnand B are incorrect, C is correct. i
(3) A and B are correct, C is incorrect.
{4} Aand C are incorrect, B is correct.

 118. Why is it mot easy to predict the needs of
. society 7

(1) Job seekers don't take appropriate career
. : Rppey )

(2)

knowledgeable.

The needs of the employers and economy

are changing at a fast pace.

(8)

(4}
. society. .
114. A job seeker who likes challenges should keep
his head down. This means he should _____
(1) walk away in anger
(2) bow down his head
(3) avoid troublesome situations
(4) eonfront challenging situations
116. What adviee doea the writer” nol give
employment seekers in para 8 7
(1) To be dejected by rejection
(2) To be prepared for long hours of work
(8) To never give up the search for a dream

job. ,
(4) To be patient in the search for n job

Employers cnly seek graduates who are |

Hnun-thunhllukd'muhﬂ:i- g

(47)

116

117.

118

119.

_ generation is difficult.

= ——

P-IIE
Identify the underlined wores (parts of speech)
in the following sentenen :
A majority of people think that their dream
job is too haxd to achiove.
(1} noun, ndjective
(2} adjective, noun
(8) wdverb, noun
(4) noun, adverb

Job seekers feel limited by the choices they

. mnde ot college.

The underlined phrase means :

(1) to feel dejected

(2) ‘to feel constrained
(3) . to feel limitless

7 {4) tofeel confused

Read the following
m?ﬁm: ’
Assertion (A) .
It is quite easy to get a job immediately after
graduating from a university.
Raason (R): |

Mﬂnhmtht

ngli;iin:jnh

(1) (A)does not justify (R).

(2) Both (A) and (R) are incorrect. -
(3) (A)is incorrect, but (R) is correct.
(4) Both (A) and (R) are correct. .

‘Learning the trade from the bottom up’
means : o

(1) from the lowest to the highest in
hierarchy.

(2) trading places with others.

(3) from your colléagues.

(4) inter-departmental learning.
Complete the word analogy :
expectedly : unexpectedly = rejection : 7
(1) eviction S
(2) probation

(3) dejection

(4) selection
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PART V
LANGUAGE I1
ENGLISH

Directions : Answer the following questions by
selecting the correct /most appropriate option.

121. Which one of the following is mof a classroom
mumhrhrnmhllﬂiﬂl-llll‘ﬂ of
langunge ?

[1} Classroom library

(4) Word wall ]
lﬂ.ﬂudthuhﬂminumulﬂﬂuﬂth

correct option : |

Assertion (A) ;

hplmﬁrhﬂirﬂuﬁ.ﬂhmhlmnh

mh-mm

Reason (R): |

There is diversity in learners in the learning

of new languages,

(1) (A)is true, but (R) is false,

(2) Both (A) and (R) are true, ht-f.'l‘Jil

not the correct explanation of (A). _
© (8) (A) is false, but (R) is true. LK

4 andmlmhuudmith

* ecarrect explanation of (A},

mu-mmmﬂm&mﬁfm

hwﬂwlm#ﬂ-rd-hmdiu?

Bhajpari

natives. When the new second language
replaces the native language, this is an
exampleof :

(1) Code-mixing

125, Which of the following supports a pre-reading
activity ?

(1) Asking learners to summarise the text
(@) Using'a prediction task

(8). Teaching grammatical structures

) Udnu-ﬂ#ﬂ"t""“

Wdhﬂwﬂilmmm

teaching ? t d

(1) Providing support  to  improve
performance '

m Euﬂumuhrhhmuﬂmm

(3) Hﬂl‘lﬂi:n.: u.tu  marks to im;n'm
performance

(4 mvmgmﬂ-hmhnﬁ-ddﬂbm

127.

r-\;

mmmwmmm
mﬂﬁm ’ o -
Assertion (A) :

1 Mﬂhknmﬁud ll.'llmll.ﬂlh

.H-ml'll

Enlihhhtl ﬁu
nhnnh.mu. q:nhmmu

() (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) i
mot the correct explanation of (A).

(A) is false, but (R) s true.

mmmm}mmmmum
mmmlmﬁmqu

=i




. (B&) P-IVE

the following state
mm; and choose the | 184, Children's informal internctions, friendships
Assertion (A) :  and relationships with others in their
Prompting  studen ‘community are based on their use of which
knowledge is @ to weall provieus form of language 7 '
Reason (K) : (1) Aeccommodation
mu!tn, the previous knowledge (2) Assimilation
new knowl the known knowledge to the (8) Language socialization
g}} mmhutmi.hh_ (4) Enculturation

(A) and (R ;
mﬂummmrﬁthMm the case of vocabulary use, grammar

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are troe and (R) is the
correct explanation of (A). |

A teacher of Class VIIT asked her learners to

produce a leaflet about saving energy at home

as an assignment. This task will cater to

Mfﬂhﬂllﬂ'lﬂm?

- (1) Question forms

131.

(2) Positive imperatives
(3) Comparative

(4) The past tense -
While planning a lesson, one of the objectives
is to enable learmers to produce typical
business communication with customers. This
ohjective matches with one of the types of text
genres listed below :
(1) Report :
{2) _Description
(3) Article

" (4)  Latter

13z

+ (1) Analysing

- "(4) Imagining

A teacher asked students to look at the four
musical instruments in the picture, and

- discuss why they are used in different musical

matches this activity :

(2) Composing
(3) Reasoning

When monolin pu'lml:uimmﬁ'mﬁumll
to informal modes of speech within the same
spoken or gestured idea, they are engaging in :
(1) Code-mixing

(2) Code-switching

(2) Dialects _ .

4) Soclolinguistics

provides a pathway for learners to
(1) combine lexical items into meaningful
and communicative expressions,

(2) re-tell listening inputs into oral output.
(a) draft formal pieces of writing in higher
classes. :

(4 Hi"ﬁihmllﬂmﬂmﬂihm

accuracy and confidence.

Directions  : Read the passage given below and
| answer the questions (Q. Nos. 136 to 142) that follow

"Let’s gol We are going to be latel” shouted
Glen gicefully as ho tightened his achoolbag on his
back. Three other faces broke into a smile upon

" | hearing his words. They could not wait to seak their

feet in the water and perhaps catch a small fish or
two, just for kicks. They weore clearly not heading
towards where they should be — school. The cold
smaller. Their little hearts grew braver by the

* | minute, They knew exactly where to go.

““* The ‘canal was huge but that morning, there
was only a small lazy stream of dirty water in it.
Wi.l'.hq:iwll.t[u.ltn. Glen, the leader.of the pack,
hoisted himself over the railings and climbed down
the huge monsoon drain. In the process, he got
himself very dirty, but the pxcitoment of truaney
was too groat to be bothered by some loose buttons
and tears in his shirt. .
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In & fraction of seconds, the other bays joined
him. Soon, sereams and laughtor of delight
mmiﬂhﬂlnhhummuhmuhm
them for they had chosen n eannl that was far from
anyone, Glen spied many tiny fish darting to and fro
in the murky water. They had no econtmieal value
and were practically worthless but nevertheloss, the
thrill of eatching them bare-handed was priceless.
Glen raced after an extra fat one, He plunged his
. hands to grab it only 1o have it slip between the
eracks of his fingers. ;

Iuﬂwmhﬂuhﬂ-hﬁmdddhli
fishing to the canal that day 7
(1} Four
(2) Five
(3) Three
(4) Two

m.‘ﬂ:-wmd'hq'inﬁ-phrm'lmﬂlhq
-stream of dirty water' means :
(2} slow
(8) lethargic
(4) murky

138. Why did the boys’ hearts grow braver by the
minute 7
(1) They were excited to have missed school.
2) They knew exactly where they were
headed. 1 )
(3) They knew that their teachers couldn't
find them. '
(4 They could no longer see the school
building. :

139. Where should the boys
of the day ?
(1) . At home

(2) At school :
(3) Playing with friends

have been at that time

(58)

‘ these sentences as per the .
0 o which they occur in the passage: 0%
A. Glen climbed down the buge oy,
"~ drain. o |
B, mmgmm%ﬂhﬂ
C. Glon climbed over the railings yu
pxcitement.
(1) CaA=B=D I
() DsC—=B—=A
(3) BasA=+D=C
4y A=C=D-=B
141. Identify the underlined words (parts of speac
in the sentence given below : :

Glen gpied many tiny fish darting to and fro i,
the purky water,

(1) mdverb, adjective

(2) werb, noun .

(3) werb, adjective

(4) adverb, noun

142. Complete the word analogy : .
imposing : impressive = truancy : ?
(1) foolhardiness - -y
(2) absenteeiam
. @) lying
(4) play-acting

Directions : Read the passage given below and
mt&:quﬂ.ﬂm 143 to 150) that follos
bdmﬁqthmmmm

L)

(4) By the canal




changes are made to the timotable, which is ha

mdﬁ.hﬂhmmhuﬂﬁummuuﬁ.
come up. However, camp members generally get up
their day with outdoor games to get them warmed
uphrﬂuhmdqlhld.ﬂmmMWin

opportunity to select from various activities ‘that
induiedlnﬂq.mh_lkmhnudnqﬁﬁﬁn;

Dmﬁthtﬁmdﬁmp. there is a day known |

umm;mamm-m-mm
organisations in the neighbourhood.... Reach Out!
This can involve organisations dealing with housing,
journalism, healthcare or the environment, to name
just a fow. Evenings are spent waiching
documentary films or listening to guest speakers.
The aim is to encourage the young people to go out
and make the world o better place. =~

143. Read the following statements and choose the
correct eption : :
A Mﬂiﬂwm'ﬂh‘m

eamps that are organized all across the

warld, '

Young people in the age group of

12 - 17 years attend these camps.

These young people come to learn

leadership skills,

B and C are correct, A is incorrect.

A and C are incorrect, B is correct.

A and B are correct, C is incorrect.

A, B and C are all correct.

Why do young people from all aver the world
come to these camps 7

around them

To while away their time

To improve their leadership akills only

EBERE P P

144,

(&)
(4)

. ir 1Lt b e

P-IVE

148, To propare themeelves and get warmed up for
the busy dny shead, the young people :

(1) get up as enrly as 7 a.m.

(2) et n heavy broakfast.

(8) partake in some outdoor games.
(4) atiend workshops.

146. In the afternoon, which of the following

{1) Basketball and songwriting
(2) Yoga and public speaking
(3) Dancing and yoga

-+ {4) Basketball and dancing.

147. The camps are justifiably named o
because : labiorates
with neighbourhood organizations.
(2) young people find it exciting to reach the
m&.
(%) Eﬁm action packed throughout the

(1) planned in 8 way to collaborate with local
organizations.
(2) action days.

(8). tiring and average.
(4) not the same routine-wise,

148. Identify the underlined words (parts of speech)
in the sentence given below:
They alse meet many other people who have
the same interests and beliefs,
{1) adverb, noun
- (2) adverb, adjective
' (8) conjunetion, verb
{(4) preposition, noun

150. Complete the word analogy :
confident : shy i avernge : 7
(1) similar
(2) below par
(3) extrnordinary
{(4) undorstated
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